Bagara ~ 1 a) $\tilde{\mathbb{E}}_{h=1}^{\infty} (-1)^{n} h \cdot (e^{t_{g} t_{h}} - 1) - pacx.$ $|a_n| = n \cdot (e^{t_3 t_n} - 1) \sim 1 \rightarrow 0 \Rightarrow pacx. m.u. uetanouteno$ Heosnogumoe yanohil Chogumocom $\delta = \left(\frac{\sqrt{h^2 + 2}}{\sqrt{h^2 + 3}} \right)^{n^{2/2}} - C \times.$ $h_{1} a_{h} = \left(\frac{\sqrt{h^{2}+2}}{(h^{2}+3)}\right)^{\sqrt{h^{2}}} = \left[\left(1+\frac{-1}{\sqrt{h^{2}+3}}\right)^{-}\left(\sqrt{h^{2}+3}\right)^{-}\frac{-\sqrt{h^{2}}}{\sqrt{h^{2}+3}}\right]^{-} =$ $= e^{\left(-1 + \frac{3}{\sqrt{n^2} + 3}\right)} \xrightarrow{\frac{1}{e} < 1} \Rightarrow pag CX. No mp. Davamõepa$ Jagara N2 $\sum_{n=1}^{\infty} (-1)^{n+1} \frac{\cos^2(n^2)}{n^3}$ $\left| \left(-1\right)^{n+1} \cdot \frac{\cos^2(n^2)}{n^3} \right| \sim \frac{1}{n^3} \Rightarrow C \times \cdot + o a \delta C \cdot no v puzualing chatherenes$ $<math display="block">\int hpegenenes popule$

-17

$$\begin{aligned} \int agara - 3 \\ & \underset{N=0}{\overset{(-1)^{n}}{\frac{1}{\sqrt{n^{2}+2u+1}}}} (x-5)^{n} \\ & \underset{N=0}{\overset{(-1)^{n}}{\frac{1}{\sqrt{n^{2}+2u+1}}}} (x-5)^{n} \\ & \underset{N=0}{\overset{(-1)^{n}}{\frac{1}{\sqrt{n^{2}}}}} = \frac{1}{\sqrt{n^{2}}} - \frac{1}{\sqrt{n^{2}}} \\ & \underset{N=0}{\overset{(-1)^{n}}{\frac{1}{\sqrt{n^{2}}}}} = \frac{1}{\frac{1}{\sqrt{n^{2}}}} = \frac{1}{\sqrt{n^{2}}} - \frac{1}{\sqrt{n^{2}}} \\ & -1 < x-5 < 1; 4 < x < 6 \\ & x = 4; \\ & \underset{N=0}{\overset{(-1)^{n}}{\frac{1}{\sqrt{n^{2}}}}} = \frac{(-1)^{n}}{\frac{1}{\sqrt{n^{2}}}} - \frac{1}{\sqrt{n^{2}}} - \frac{1}{\sqrt{n^{2}}} \\ & \underset{N=0}{\overset{(-1)^{n}}{\frac{1}{\sqrt{n^{2}}}}} = \frac{(-1)^{n}}{\sqrt{n^{2}}} - \frac{1}{\sqrt{n^{2}}} \\ & \underset{N=0}{\overset{(-1)^{n}}{\frac{1}{\sqrt{n^{2}}}}} \\ & \underset{N=0}{\overset{(-1)^{n}}{\frac{1}{\sqrt{n^{2}}}}} = \frac{(-1)^{n}}{\sqrt{n^{2}}} - \frac{1}{\sqrt{n^{2}}} \\ & \underset{N=0}{\overset{(-1)^{n}}{\frac{1}{\sqrt{n^{2}}}}} \\ & \underset{N=0}{\overset{(-1)^{n}}{\frac{1}{\sqrt{n^{2}}}}} = \frac{(-1)^{n}}{\sqrt{n^{2}}} - \frac{1}{\sqrt{n^{2}}} \\ & \underset{N=0}{\overset{(-1)^{n}}{\frac{1}{\sqrt{n^{2}}}}} \\ & \underset{N=0}{\overset{(-1)^{n}}{\frac{1}{\sqrt{n^{2}}}}} \\ & \underset{N=0}{\overset{(-1)^{n}}{\frac{1}{\sqrt{n^{2}}}}} = \frac{(-1)^{n}}{\sqrt{n^{2}}} - \frac{1}{\sqrt{n^{2}}} \\ & \underset{N=0}{\overset{(-1)^{n}}{\frac{1}{\sqrt{n^{2}}}}} \\ & \underset{N=0}{\overset{(-1)^{n}}{\frac{1}{\sqrt{n^{2}}}}} \\ & \underset{N=0}{\overset{(-1)^{n}}{\frac{1}{\sqrt{n^{2}}}}} = \frac{(-1)^{n}}{\sqrt{n^{2}}} - \frac{1}{\sqrt{n^{2}}} \\ & \underset{N=0}{\overset{(-1)^{n}}{\frac{1}{\sqrt{n^{2}}}}} \\ \\ & \underset{N=0}{\overset{(-1)^{n}}{\frac{1}{\sqrt{n^{2}}}}} \\ & \underset{N=0}{\overset{(-1)^{n}}{\frac{1}{\sqrt{n^{2}$$

Jagan ~ 1
a)
$$f(x) = xe^{x-7}$$
 $x_0 = 2$
 $t = x - x_0 = x - 2$; $x = t + 2$
 $f(x) = (t+2)e^{t-1} = \frac{1}{e}(te^{t} + 2e^{t}) = \frac{1}{e}(\sum_{n=0}^{e} \frac{t^{n+1}}{n!} + \sum_{n=0}^{e} \frac{t^{n}}{n!}) =$
 $= \{m_{n=1} + 1\} = \sum_{i=1}^{e} \left[\frac{e}{e} + \frac{k^{i+1}}{k^{i+1}} \frac{t^{in}}{e}\left[\frac{(m-1)!}{(m-1)!} + \frac{2}{m_1!}\right]\right] =$
 $= \sum_{m=1}^{e} \left[\frac{2}{c} + \frac{2m-1}{e(m-1)m!} \left[(x-2)^{m_1}\right]$
 $\sum_{n=0}^{e} \frac{t^{n+1}}{n!} \left[\frac{4m+1}{4n}\right] \left[\frac{4m+1}{4n}\left[\frac{1}{(m+1)k!} + \frac{1}{4k}\right] = \frac{1}{(m+1)k!} + \frac{1}{2k!}\right] = \frac{1}{k!} = 0 < 1$
 $\geq \frac{2t^{n}}{h!} \left[\frac{4m+1}{4n}\right] = \left[\frac{2t+4\sqrt{n}}{(m+1)k!} + \frac{1}{k!}\right] = \frac{1}{k!} = 0 < 1$
 $\Rightarrow 0 \delta n \cdot c \log_{2} i$; $x \in \mathbb{R}$
 $f(n) = \frac{x}{k^{n}-3k+2}$ $x_0 = 0$
 $f(x) = \frac{x}{k^{n}-2} + \frac{2}{k^{n}} + \sum_{k=0}^{e} x^{n} = \sum_{k=0}^{e} \frac{x^{n}(2^{n}-1)}{k!} = \frac{-\frac{1}{2^{n}}}{k!} + \frac{1}{1-x} = -\sum_{k=0}^{e} \frac{x^{n}}{2^{n}}} + \sum_{k=0}^{e} x^{n} (2^{n}-1) = \frac{1}{2^{n}}$
 $\left|\frac{4m+1}{5m}(x)\right| = \left[\frac{x \cdot x^{n}}{2\cdot^{n}} (2\cdot1^{n}-1) - 2^{n}\right] \xrightarrow{m \to \infty} x < 1$
 $x = 1$ $\sum_{n=0}^{e} (4 - \frac{1}{2^{n}}) - pac x \Rightarrow 0 \delta n \cdot c xe_{0} : x \in (-\infty; 1)$

1 T

$$\begin{aligned} y'' + x^{2} y' + 2xy = 1 \quad y(0) = 0 , y'(0) = 0 \quad \Delta \leq 0,001 \text{ mpm} x \in [0;0,5] \\ y'' = 1 - x^{2} y' - 2xy; \quad y''(0) = 1; \\ y''' = -2xy'' - x^{2} y'' - 2y - 2xy' = x^{2} y'' - 4xy' - 2y; \quad y'''(0) = 0; \\ y''' = -2xy'' - x^{2} y'' - 2y - 2xy' = x^{2} y'' - 4xy' - 2y; \quad y''(0) = 0; \\ y''' = -6y'' - 6xy''' - 2xy''' - 4xy'' - 2y''' - 6xy''' - 2y''' - 6xy'' - 2y'' - 6y'' - 2y'' - 6xy'' - 2y'' - 6y'' - 2y'' - 2y''' - 2y'' - 2y'''$$

$$\begin{split} \ln gava = v \ 6 \qquad y = 3 \times -2 \qquad (0, t) \\ f(x) &= \frac{a_{0}}{2} + \sum \left[a_{n} \cos \frac{n\pi v}{\ell} + 4n \sin \frac{n\pi v}{\ell}\right] \qquad (0, \ell] \\ a_{0} &= \frac{f}{2} \int_{0}^{t} f(x) dx = \frac{f}{2} \int_{0}^{t} (3x-2) o dx = \frac{f}{2} \int_{0}^{t} \left[\frac{3}{2} \times^{2} - 2x\right] |_{0}^{t} = \\ &= \frac{3}{2} \left[c - 2 = 6 - 2 = 4 \\ a_{0} & \text{normalized} \qquad a_{h} = \int_{0}^{t} f(x) \cos \frac{n\pi v}{\ell} \qquad -vomential \\ h &= \frac{f}{4} \int_{0}^{t} (3x-2) \cos \frac{n\pi v}{4} = \frac{f}{4} \int_{0}^{t} (3x \cos \frac{n\pi v}{4}) = \\ &= \frac{f}{4} \left[\frac{3}{2} \cos \frac{n\pi v}{4}\right] = \frac{f}{4} \int_{0}^{t} (3x \cos \frac{n\pi v}{4}) = \\ &= \frac{f}{4} \left[\frac{3}{2} \sin \frac{n\pi v}{4}\right] = \frac{f}{4} \int_{0}^{t} (3x \cos \frac{n\pi v}{4}) + \frac{\pi v}{4} + \frac{v}{4\pi} + \frac{v}{4\pi} \int_{0}^{t} \left[\frac{v}{4}\right] \\ &= \frac{f}{4} \left[\frac{v}{n\pi} \cdot 2\sin \frac{n\pi}{4}\right] = \\ &= \frac{f}{4} \left[\frac{v}{n\pi} \cdot 2\sin \frac{n\pi}{4}\right] + 3\cos \frac{n\pi}{4} \cdot \frac{v}{4\pi} - 2 \cdot \frac{v}{\pi n} \sin \frac{n\pi}{4} - 3 \cdot \frac{v}{4\pi}\right] = \\ &= \frac{f}{n\pi} \left[\int_{0}^{t} 40 \sin \frac{n\pi}{4} + 3\cos \frac{n\pi}{4}\right] = \frac{f}{n\pi\pi} \left[0 + 3(-0)^{n} - 3\right] = \frac{1}{n\pi} \left[(-1)^{n} - 1\right] \\ &A_{2k} = 0 \quad j \quad A_{2k+1} = \frac{-c}{\pi(2k+1)} \\ &f(x) = 4 \int_{0}^{t} \frac{f}{4\pi v} \int_{0}^{t} 5^{2}(x) dx = \frac{a_{0}^{2}}{4} + \sum_{n=1}^{\infty} \frac{co}{(2k+1)} \\ &f(x) = 4 \int_{0}^{t} \frac{f}{4\pi v} \int_{0}^{t} (3x - 2)^{t} dx = \frac{a_{0}^{2}}{4} \int_{0}^{t} (3x - 2)^{t} \frac{f}{4} \left[(3x - 2)^{t}\right] \Big|_{0}^{t} = \\ &= \frac{f}{16} \left[\frac{1}{(2k+1)} + \frac{1}{2} \int_{0}^{t} \frac{co}{(2k+2)} dx = \frac{a_{0}^{2}}{4} + \sum_{n=1}^{\infty} \frac{co}{(2k+4)} \right] \\ &f(x) = 4 \int_{0}^{t} \frac{f}{4\pi v} \int_{0}^{t} \frac{co}{(3x - 2)^{t}} dx = \frac{f}{42} \int_{0}^{t} (3x - 2)^{t} d(3x - 2) = \frac{f}{46} \left[(3x - 2)^{2}\right] \Big|_{0}^{t} = \\ &= \frac{f}{16} \left(\frac{100 + 6}{10}\right) = \frac{1}{16} \left(\frac{100 + 2}{10}\right) dx = \frac{f}{16} \int_{0}^{t} (3x - 2)^{t} d(3x - 2) = \frac{f}{36} \left(3x - 2\right)^{2} \Big|_{0}^{t} = \\ &= \frac{f}{16} \left(\frac{100 + 6}{10}\right) = \frac{1}{16} \left(\frac{100 + 2}{10}\right) dx = \frac{f}{16} \int_{0}^{t} (1x - 1)^{t} d(1x - 1) = \frac{f}{4} \int_{0}^{t} \frac{f}{10} \left(\frac{1}{2}\right) dx = \frac{f}{16} \int_{0}^{t} \frac{f}{10} = \\ &= \frac{f}{16} \left(\frac{100 + 1}{10}\right) = \frac{f}{16} \left(\frac{100 + 1}{10}\right) dx = \frac{f}{16} \int_{0}^{t} \frac{f}{10} = \\ &= \frac{f}{16} \left(\frac{100 + 1}{10}\right) = \\ &= \frac{f}{16} \left(\frac{100$$

$$\begin{split} \delta \bigg) & \text{ to } \quad \text{cumplen} \quad \theta_{h} &= \frac{f}{c} \int_{0}^{g} f(x) \sin \frac{\pi \overline{u} x}{c} dx \\ \theta_{H} &= \frac{f}{b} \int_{0}^{1} (3x - 2) \sin \frac{\pi \overline{u} x}{b} dx = \frac{f}{b} \int_{0}^{1} (3x \sin \frac{\pi \overline{u} x}{b} - 2 \sin \frac{\pi \overline{u} x}{c}) dx = \\ &= \frac{f}{b} \left[-\frac{g}{\mu \overline{u}} \cdot 3x \cos \frac{\pi \overline{u} x}{b} + 3 \frac{g}{\mu \overline{u}} \sin \frac{\mu \overline{u} x}{b} + 2 \frac{g}{\mu \overline{u}} \left[\cos \frac{\pi \overline{u} x}{b} \right] \right]_{0}^{h} c \\ &= \frac{f}{\mu \overline{u}} \left[-12 \cos \mu \overline{u} + 3 \sin \mu \overline{u} + 2 \cos \mu \overline{u} + 12 - 2 \right] = \\ &= \frac{f}{\mu \overline{u}} \left[(-1)^{h} - 1 \right] \\ &= \frac{f}{h} \left[$$

$$\begin{aligned} \int a_{2} u u a \sim \hat{T}. \quad \frac{\partial^{2} u}{\partial t^{2}} &= \frac{\partial^{2} u}{\partial x^{2}} \quad , \quad \hat{t} = 2 \\ \mathcal{U}(0,t) &= u(2,t) = 0 \quad ; \quad u(x_{1}0) = 0 \\ \frac{\partial U(x_{1}0)}{\partial t} &= 2 \times - x^{2}, \\ \partial x &= \frac{2}{2n\pi} \int_{0}^{2} (\frac{2 \times - x^{2}}{u}) \underbrace{\operatorname{sm} \frac{n \Pi}{2} x \, dx}_{\partial V} = -\frac{2}{h^{2} \pi^{2}} (2 \times - x^{2}) \operatorname{col} \frac{h \Pi}{2} x \Big|_{0}^{2} + \\ &+ \frac{\mathbf{H}}{h^{2} \pi^{2}} \int_{0}^{2} (1-x) \operatorname{cos} \frac{h \Pi}{2} \chi \, dx = 0 - 0 + \frac{\beta}{n^{3} \pi^{3}} (1-x) \operatorname{sin} \frac{n \Pi}{2} x \Big|_{0}^{2} + \\ &+ \frac{\mathbf{H}}{h^{2} \pi^{2}} \int_{0}^{2} (1-x) \operatorname{cos} \frac{h \Pi}{2} \chi \, dx = 0 - 0 + \frac{\beta}{n^{3} \pi^{3}} (1-x) \operatorname{sin} \frac{n \Pi}{2} x \Big|_{0}^{2} + \\ &+ \frac{\mathbf{H}}{h^{2} \pi^{2}} \int_{0}^{2} \operatorname{sin} \frac{h \Pi}{2} \chi \, dx = 0 - 0 - \frac{\beta}{n^{3} \pi^{3}} \cos \frac{n \Pi}{2} x \Big|_{0}^{2} = -\frac{\beta}{n^{3} \pi^{3}} (\cos (n \pi) - 1) \stackrel{\text{(f)}}{=} \\ \operatorname{cos}(n \pi) &= \begin{cases} -1, \quad h = 2n + 1 \\ 1, \quad n = 2n \end{cases} \int_{0}^{2} (-1)^{\mathbf{M}} \\ &= (-1)^{\mathbf{M}} \\ \operatorname{cos}(n \pi) = \begin{cases} -\frac{1}{n^{3} \pi^{3}} ((-1)^{\mathbf{M}} - 1) \\ &= + \frac{46}{(2n+1)^{3} \pi^{2}} \\ \end{array} \end{aligned}$$